Find the missing side.

5am / cm 8 cm 9 cm 10 cm 12 cm
Perimeter =18 cm Perimeter = 25 cm Perimeter =39 cm
The missing side The missing side The missing side

12 cm 15 cm 14 cm 18cm 6cm 8 cm
Perimeter = 33 cm Perimeter =45 cm Perimeter = 21 cm
The missing side The missing side The missing side

9 cm 10 cm 12 cm 14cm  15cm 17 cm
Perimeter = 28 cm Perimeter = 35 cm Perimeter =49 cm

The missing side The missing side The missing side



Find the missing side.

7 cm 9 cm 10 cm 2em 1B am 15 cm
Perimeter = 22 cm Perimeter = 28 cm Perimeter = 34 cm
The missing side The missing side The missing side

16 cm 15 cm 19 cm 2lem 22 cm 24 cm
Perimeter =40 cm Perimeter =46 cm Perimeter = 52 cm
The missing side The missing side The missing side

25 cm 27 cm 28 cm 30cm  3lcm 33 cm
Perimeter = 58 cm Perimeter = 64 cm Perimeter = 70 cm

The missing side The missing side The missing side



